" CHECK-UP TEST | Measurement

Schofield & Sims

Write'in each box the
coins which make up
the given amount.
Use the least possible
number of coins.

50p,2p,2p | |65 50p, 10p, 50 |

__10p, 50, 2p, 1p |

'32p, _ 20p,10p,2p | | 54p

[800 __ 50p,20p, 10p | [67p _50p 10p.5p,2p | | 18p

‘ 26p

20p,5p,1p | |7p _ 50p,20p. 1p | | 59p

Find the change from each amount.

50p, 5p. 2p, 2p |
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CHECK-UP TEST | Measurement and geometry

..220m
50cm
Taem

..208mm

_750mm

Amount Spent Change Amount Spent Change Amount Spent Change

18cm__ _.39cm - 3258m =

4mm  390mm =

~50p 24p 26p 90p 81p 9p f3 £2.13 £0.87

 412mm = 412cm © 5106m = ~ 5km

. 800cm =

30cm.
4m

Bhcm gm

50p 35p - 15p 60p 52p 8p £4 £125 | £2.75

- 8200m =

_1om 3.3m | 6500m =

S5Cp 12p 38p 30p 23p 7p £4 £2.48 £1.52

1000cm = Ocm | 330cm = «
340cm = 3m_ 40cm | 785cm = ...7.85m | 7750m =

50p 37p 13p 45p 4p £5 £3.09 | £1.91

3km

258m
C A06m
- 8.2km

__6.5km
. 7.75km

50p 28p 22p £] 24p 76p £5 £2.46 £2.54

50p 19p 31p £1 37p 63p £5 £1.67 | £3.33

50p 23p 27p £2 £1.6% 3p £5 £2.11 £2.89

£2 £1.06 £5 £0.88 £4.12

50p 1ep 34p 94p

= oe3kg | 5000ML= Bl kg=
5280g = Skg 280 @ 2884ml= 21 884ml . tkg=
8090g = 8kg 90g | 6160mi= _6L_160ml  Fkg =
4400g = 44kg - 7300ml = 73 ks
72509 = 7.25kg  900mL= 091 jl=

£2.55 =
f172 =
£2.78 =
£4.30 =

12 20ps, 3 bps
..8.20ps, 62ps
.13 20ps, 9 2ps
.38 10ps, 1 50p
_..7.50ps,.310ps
. 850ps.5.5ps
...5.50ps, 4 10ps
3 50ps,.7.2ps

- £750=
£10.00 =
£3.80 =

10 5ps =
6 5ps =

14 5ps =
100 5ps =
12 5ps =

50 10ps =
45 10ps =
65 10ps =

25 2ps

15 2ps
2 10ps
. B0iDps = £10.00=
.3.20ps  £5.00=
 2520ps  £7.50=
 950ps  £5.00=
1350ps | £2.20=

_1550ps
20 50ps |
1920ps
.50 20ps
5010ps = £3.80 =

. 7510ps @ £4.25=
. 1005ps  £2.90=
_445ps | £164=

5009
...250g
_.20g
...=200ml
750ml

2609 = 5kg
130g = 3kg
- 94g = 5kg
359 = 7kg
529 = kg

92ml
. 134ml
.32iml

B0ml

T

= 592ml . 8209 -0.7kg =
=634ml | 925ml- 0.8l =
=827ml  0.6kg + 60g =
=310ml . 0.250+ 120ml =

= 425ml | 0.75kg + 240g =

R ol S ] el ]

12049
A25ml
6609
370ml
2909

8 Work across the page. Write to the

' nearest whole

| f2.24 + £3.09 =
475 £2.30 =
Cf1.62 +£1.38=
 £150-£0.77 =
| £3.87 + £0.45 =

£5.33

£195
£3.00 .
£0.73
£t4.32

£110 | £1.35-60p=
£1.02 | £270-85p=
£1.09 | £460-99p=
(103 £2.29-£074=
£1.60 __  £320-£293=

£0.75

£1.85
£3.61. .
£1.55
£0.27

24p + 36p + 50p =
p+4lp+22p =
25+ /5p+9p =

63p+28p +12p =
820+ 63p+15p =

105

953
£4.83

20
300

14.4
1326
- £32750

7 opumber

14 s
1300 2950
£33  £129.28

.10
1000

3
197
308
£17.09

nearest hundred
= nearest £1

- 109mm
730cm
18km 900m

7cm 2mm .fcm
8m 51cm

121km

.j:: nearest ¢m - 39.6cm
¢ 15.3m

-~ 78.5km

am

. nearest m 9m
B 12km

nearest km

Find the cost of

5kg at 25p'per kg
37kg at 30p per kg
4%kg at 20p per %kg
2kg at 50p per 200g
65 kg at 60p per kg

£5.90
£0.75
£2.25_

£1.25
£1.05
£1.80 .
£3.90

£0.42
£1.65

. 5mat £1.18 per m

. 75cmat £1 perm
£0.55 ATm at 50p per m
£3.00 . 1imat20pper Im
£0.39 | 2mat30p per 20cm.

131 at 28p per
- 3lat 55p perl
- 23lat 220 perl
3l at 60p per 100m
. 750ml at 26p per 31

£0.50
£3.00

' 99.25g
~ 5kg 600g
3.7l

- nearest kg 4kg 3009
bikg 200g

SL4C0ml

4kg
. 6kg
5l

9kg 5509
12kg 380qg
al 600ml

.. nearest 1kg

2 nearest |

12
.. 3000
£129
. AGcm

~ 15m
..19km

_9%g
1 %
__52kg

4

g @ Write the letter of the shape that is

e ~aright-angled triangle " E . arhombus -G anobtuse-angled triangle

@ Write the times shown on these clocks

a using the 12-hour clock format, using a.m. or p.m.
b using the 24-hour clock format.

_al245am. ™ @ 1019 pm.
“Ab00:45 ¢

evening

morning

morning afternoon

b 2219

A anisosceles triangle.

- T

D aparallelogram

__ibcm’ lBcm

47

_24cm?*  22cm




